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My Christmas Study Plan ‘

December 2015

Su Mo Tu We Th Fr Sa
1 2 3 4 5
6 7 8 9 10 11 12
13 14 15 16 17 18 19
20 21 EQ 23 24 | 25 | 26
27 28 29 30 31 11 2;

3/1 Exam begins
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If

ABCDEFGHIJKLMNOPQRSTUVWXYZ

is equal to

1234567891011 121314151617 18 192021 222324725 26,



H+A+R+D+W+O+R+K

8+ 1 +18+4+23+1|5+18+ 11 =98%

K+N+O+W+L+E+D+G+E

11+ 14+ 15+23+12+5+4+7+5=96%

L+O+V+E

12 + 15 +22 +5 = 54%

L+U+C+K

12+ 21 +3+ || =47%




None of them makes 100%.

Then what makes 100%?



Is it Money!?

13+ 15+ 14+5+25=72%

Leadership?

12+5+ 1 +4+5+18+19+8+9+16=97%




Every problem has a solution, only if we perhaps change our

‘ATTITUDFE'.

A+T+T+1+T+U+D+E

| +20+20+9+20+ 21 +4+5=100%

It is therefore OUR ATTITUDE towards Life and Work that makes
our life 100% Successful.....
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= For sucess,
G@ﬂ AL R f’f—*ﬁ : Napoleon Hill il R H
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